Quiz Il General Chemistry [ Lecture 1 Summer 13 Dr. Hahn 25pts 6/10M  quiz #

Name [ Cﬁ»{q/ Name

(print name) v (sign name) Pleasc show all work for full credit.

1. Order from lowest to strongest intermolecular force. Use (1) for strongest and (3) for weakest (3 pts}

Hydrogen bonding dispersion force dipols dipole force
2. Choose onc of the following molecules to complcte the following series of questions. Clearly state

which one you chose otherwise, your answe do more than one, I will only grade

the first one.) {9 pts total, 3 pts each letter ﬁ-d Vacl En ) @ H%z%

VSEPRT molecular shape = bent @ WMot Zevrd
amn working on this molecule (b) circle letter © H— & U)"L?

VSEPRT molecular shape = tetrahedral @ het zews
i [
T am working on this melecule {c) circle letter @ J tpe le “5/!9)0 f{

a. For the molecule shown, draw a dipole moment arrow for each bond in the molecule.
moment arrow should look like { 44— )

¢.  The intermolecular force for this molecule is [(London force) or {dipole-dipole) or (hydrog
{circle one)

3.  Which one of the follomn% molecules has a higher BP or MP?  [(CILy) ot {
ODS)(“ptS) la W{ has Gress, d; Qf%s,
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{b) The melting point of water is 0.00 °C. will be the temperature of the watet, at the end of the
melting process ? 3,00 °C Bpts) { T d Oes j




5.  Extra Credit: (2 pts)

You have 13.5 grams of Na Cl (molar mass = 58.5 g/mol) and dissolve it in 100.0 mL of water which
results in a 111.5 mL of total solution {(density of pure water = 1.00 g /mL ). What is the molarity (M} of
the solution ? What is the molality (m) of the solution ? (show work) (1 pt molarity, 1 pt melality)
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Quiz III General Chemistry II Lecture | Summer 13 Dr. Hahn 25pts 6/10M  quiz #

Name Name
(print name) v (sign name)  Please show all work for full credit.

1. Order from lowest to strongest intermolecular force.  Use (1) for strongest and (3) for weakest (3 pts)
Hydrogen bonding dispersion force dipole dipole force

2. Choose one of the following molecules to complete the following series of questions. Clearly state
which one you chose otherwise, your answer will be incorrect. (If you do more than one, [ will only grade
the first one.) (9 pts total, 3 pts each letter)

VSEPRT molecular shape = trigonal pyramidal

i
F" h F
F I am working on this molecule (a) circle letter.
L1
CH3"—~O"‘\ VSEPRT molecular shape = bent
H
I am working on this molecule (b) circle letter
H

10t VSEPRT molecular shape = tetrahedral
By
Cl H
Cl

I am working on this molecule (¢) circle letter

a.  For the molecule shown, draw a dipole moment arrow for each bond in the molecule. (The dipole

moment arrow should look like ( +——-— )
b. The dipole moment for the molecule as a whole is [ (zero) or (not zero) | (circle one)

¢. The intermolecular force for this molecule is [(London force) or (dipole-dipole) or {hydrogen bonding)|
(circle one)

3. Which one of the following molecules has a higher BP or MP?  [(CHyj4) or (CH3CH2CH>CH3)] (circle
one) (4 pts)

4. (a) Ifyouwantto melt 92.7 grams of water, what is the heat required, q 7 (q = nAHgysion ) (molar mass

(b) The melting point of water is 0.00 °C.  What will be the temperature of the water at the end of the
melting process ? °C (3 pts)



5. Extra Credit: (2 pts)

You have 13.5 grams of Na Cl (molar mass = 58.5 g/mol) and dissolve it in 100.0 mL of water which
results in a 111.5 mL of total solution (density of pure water = 1.00 g/ mL ). What is the molarity (M) of
the solution ? 'What is the molality (m) of the solution ? (show work) (1 pt molarity, I pt molality}



